DOUBLE ANGLE FORMULAE

1 (a) By writing sin 36 as sin (26 + @), write sin38in terms of sin 6.
(b) Hence write cos 360 in terms of cos 6. (c) Hence write tan38in terms of 8.
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DOUBLE ANGLE FORMULAE

2 Ifsinf= %, 90° < 8 < 180°, evaluate (in surd form):
(a) sin280 (b) cos28 (c) tan26. (d) In which quadrant is 262
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DOUBLE ANGLE FORMULAE

3 Simplify:
(a) % (b) —;-sinzo tan@ (c) cos’26-sin?20 (d) cos®30°—sin®30°
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DOUBLE ANGLE FORMULAE

3 Simplify:

() (sinf+cos@)’ (j) (sinA—cosA)> (k) IZttan?B for 8=22.5° (I) sin?50° + sin?40°
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DOUBLE ANGLE FORMULAE

4 Ifsin6=%.%s 6< mrand tan¢=%,0$¢s 12[. find the value of:

@ sin(6-¢)  (b) cos(6-¢)  (c) tan(6-9)
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DOUBLE ANGLE FORMULAE

5 Simplify:
@) 1+mn2({,_£-a) ) 1-cos*(n+6) ©) smocos(§-9)+cosasin(12€-o)
(d) 2cosz%—1 (e) l—sinGcos(%—B) (f) sin(m—O)cosg-cos(mr—O)sing
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